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Most of the AFC has played 3 games (two have played 2) so far in the season when this data gathered.  The following is the Points For and Points Against for the AFC this season.




	Points For

	Points Against

	94
	80
	46
	67
	100
	59
	64
	51

	86
	40
	55
	37
	35
	47
	58
	53

	32
	24
	44
	38
	29
	90
	48
	23

	57
	56
	53
	71
	82
	80
	72
	26


1.  Draw dotplots of these lists below.  
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2.  Comment on the distribution, outliers, center, spread, shape etc.  

Both are fairly spread out PF has a slightly smaller spread, center is approximately Upper 50’s, 
PA has a fairly large value away from the rest (100)
3.  Draw a boxplot of each (with a scale).  Compare them in a sentence or two.
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4. What are the values of the 5-number summary, IQR and Range? 
The Min, Q1, Med, Q3, Max Below
Variable        N  N*   Mean  SE Mean  StDev  Minimum     Q1  Median     Q3 Maximum

PointsFor      16   0  55.00     5.02  20.08    24.00  38.50   54.00  70.00  94.00

PointsAgainst  16   0  57.31     5.77  23.08    23.00  38.00   55.50  78.00 100.00

Outliers: Points for 1.5*(70-38.5) + 70 AND 38.5 – 1.5*(70-38.5) = 117.25 and – 8.75
Points Against  1.5*(78-38) + 78 AND 38 – 1.5*(78-38) = 138 and – 22

5. From the given information, give a one sentence explanation for an outlier on the far left each plot? 2 teams only played 2 games
6. Briefly, describe the resistance of each of the following measures:

	Mean 
	 Not Resistant
	Range
	Not Resistant

	Median
	Resistant
	Standard Dev
	Not Resistant

	Mode
	Resistant
	IQR
	Resistant


7. Draw a plot (of any type) that illustrates a skew and indicate the direction of skew
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8. 
What would be a good estimate of the standard deviation of the normal curve above, and why did you pick that value?

sx approx 10 – 13 this is where the curve flattens out(where you would turn the steering wheel the other direction, transition from concave up to concave down) relative to the mean – 
50 – 40 = 10 
Base your answers to the following questions on your estimate.

9. What would be the score of a person that received a z-score of +2?

50 + 2*10 = 70 (10 was the estimate I used form 8)
10. What would the z-score be for a person that received a –30 (show your reasoning).

50 - - 30 = 80, -80 / 10 = -8; (score – mean) / (standard deviation)
11. What is your estimate of the mean?  50 (The peak of the curve)
12.  What two scores does approximately 68% of the data lie between? __40 and  60_______

 Again based on original estimate
13.  What two scores does approximately 95% of the data lie between? _____30 - 70
Use the following scenario to answer the questions that follow.

Rusty Nail and Ura Belcher both took national exams measuring their understanding of Introduction to Underwater basket weaving.  These exams are standardized tests with a normal distribution.  Rusty received a 36 on the WUBA  (Weaving Underwater Battery Assessment) which has a mean 
[image: image3.wmf]2

.

32

=

x

 and a standard deviation sx = 5.6.  Ura received a 650 on the TUBWA (Test of Underwater Basket Weaving Aptitude) which has a mean 
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 and a standard deviation sx = 103.  

15.  Sketch a standard normal curve, properly labeled, that compares the WUBA to the TUBWA, in addition add a z-score scale to the plot.


	-3
	-2
	-1
	0
	1
	2
	3

	15.4
	21
	26.6
	32.2
	37.8
	43.4
	49

	288
	391
	494
	597
	700
	803
	906


16.   Using z-score calculations, and showing your work, who is more adept at weaving baskets underwater, Rusty or Ura (why?).

Ura = .51= (650-597)/103
Rusty = .68 = (36-32.2)/5.6 (Rusty did better)
17. If a student scores a 700 on the TUBWA what would you expect their grade to be on the WUBA? show your work.

Z (TUBWA) = (700-597) / 103 = 1
Z(WUBA) = 1 = (x – 32.2)/5.6; x = 5.6*1+32.2 = 37.8 
He needs a 37.8
18. Richard Nixon ran for Senate against a Mrs. Douglas. In a debate he made the statement that Mrs. Douglas voted with the communist party 354 times, which was very misleading, why?

A couple things are wrong – How many total votes were cast (was this a small percentage of the total votes cast, also did the majority of similar votes because everyone would vote that way so almost everyone may have had the same vote.  Did the similar votes have anything to do with political Leanings.
Skew right
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